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P-OTO-M-08

Directions. for the fotlowing 15 (fiffeen)
themas ;

Head {he following threc passuges

and. answer {he iferms that follow each |

Your ansiders fo these items

passage:

Passage -1
FEdugation, without a doubt, has an
:mportant functional, instrumental and
when one asks gudstions such as ‘what is
the purpose of education 7. The answers,

tan' often; gre ‘to scquire gualifications

for employmentiupward wobility,

terms of  income)
opporiunilies’, and ‘te meet the needs for
trained human pewer in diverse fields. for

‘wider’higher  (in

national development’.. But in its deepest

sense education iz wol instrurnentalist, |
That is 1o say, it is ndt to be justified)

outside of itsélf becawvse it leads to the

acquisition of formal :skills or of certain]

desired psychological — social atfributes. It
must be respecied in itself. Education is
thus not a commodity to be acquired or
possessed and then used, but & process of
inestimabile importance to individuals aad
society, although it can and does have
enormous wse-value. Edueation then, i a
n the sense of converting 61 turning
students into dvctors or engineers, but the

the creation, sustemance and development
and |.

of self-erifical -Awdreness
indépendence of thoughi. It
provess  of  moral ~ intellectual
development.

15 &n

inner

(2 -A)

What do vou understand. hy the
‘instrumeéentalisi’ view of educafion ¢ ¢

(2] Bdudation is  furietional and

(b) Bducation is meant to Tuifil human
nesds.

(ej The purpose sf pdutation is o train
the human intellect.

{d) Bducation is meant to achieve moral
Hovelopment..

According to the passage, edueatien

mugl be respected in itself because

{a) it helps to acquire qualifications [or
employracnt.

(b} it heips in upwird mobility and
acquiring secial status:

{¢} it 18 an inner process of meral and
intetlectual development,

(dy All the {a}, (b} and (¢} given above
are correct in tHis coniexi:

Eduication is a process in which

{d) students are converted into trained
prolessionals,

(b} opporiumities for higher incorue are

generated,

{e) individials develop.  self-eritical
awargness” and independenece of
thought. .

(@) quoalifieations for upward mobility

are agquired.
A IAS
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Passage - 2

Chemical pestizides lose their role in
sustainably agriculiure if the pests evolve.
resistance. The evolution of pesticide
resistanee is simply datural selection in
action. Tt is dlmost certain &b ocour when.
vast numbers of & genetically variabls
population are kilied. One or a fow
individuals may be unusually resistant
{(perhaps because they possess an snzyme
that can dotoxify the pesticide), If the
pesticide s applied repeatedly, each
guccessive generation of {hie pest will
contain a larger propertion of resistant
individuals. Pests typically have a high
intrinsic rate of reproduction, and s a
fow individuals in one generation may

give rise to hundreds or thousands in the.]
nexi, and resistance spreads very rapidly |

in a population.

This problem was often ignored in the.
past, even though the first case of DDT
{dichiorediphenyltrichiorocthane’
resistance was réported as early as 1948,
There is exponential increase in  the
numbers of invertebraies that have
evolved resistance ond in the number of
pesticides against which resistance has

evolved, Resistange has besn. recorded in

gnd piant pathogens. Take the Alabama
leafworm, a moth pest of eoiton, as an
example. It has developed resistance in
one or more regions of the world to aldrin,
DDT, dieldrin, .endrin, lindane and
toxaphene.

if ehemical pestieides brought nothing |

but problems, — if their use was
intrinsically and acutely unsustainghle —
thein they would alrcady have fallen out’
of widespread wuse. This has not
hdppened. Instead, their rate of

{4 —A)

production has increased rapidly. The
ratio of cost to benefit for the individaal
agricultoral producer has remained in
faveur of pesticide wse: Im the USA,
Insecticides have heen estimated to

benefit the agricultural products to the

tune of arsund $5 for overy $1 speni.

Mureover, in many poorer countries,
the prospect of imminent mass starvation,
or of an epidemic disease, are so
frightening that the social and health
costs of using pesticides have to be
ignored. In general the use of pesticides is
Justificd by objéctive measures such as
Tives sﬂ?ﬂd’, Ceeonomic efficiency of food
production’ and “total foud produced: In
these very fundamental scnges, their use
may be deseribed as sustainable, In
practize,  sustzmability depends on
continually developing new  pestieides
that keep at least one step ahead of the
pests  —  pesticides that are less
persistent, biodegradsble and more
accurately targeted at the pests.

“The evalution of pesticide resistariee. is
natural seleciton ir action.” What dees it
actually impiy #

(ay It is ‘very natural for many

organisms  to  have  pesticide
‘résistance,

{by Pesticide resistance among
OTganisms is a universal

phenomenon,

(e} Some individeals in apy given
population show resistance after the
apphieation of pesticides.

(d} None of the statements {a), (b} and
{c} given above is correct.

@ g IAS
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8. With reference to the padsage, consider | 8.
the follswing staterments ©
1, Use of chiemieal pesticides hasg become

imperative in all the poor eolntries of

the world,

2. Chemical pesticides should not have]
any role in sustainable agriculture.

3 One pest can develop resistence to
many posticides.

. ] 1
Which of the siatemernts given above
iwfare correct 7 1
fa} 1 and 2 only
(b} 3 only
fcy 1 and 3 only
{dy 1, 2and3d

8#,  Though the problems associated with the
usg of chemical pestitides is kidwn for s
long time, their widespread use has not
wared. Why 7
(a) Alternatives to chemiesl pesticides

i net exist at all.

{hy New pesticides gfe nob invented at

all,

(¢} Pesticides arv bindegradable,

fd} WNome of the statements {8}, () and

{€) given above is torrect.

7. How do pesticides act as agenis for the
selection of resistant individuals in aby
pest population 7 .

1. It i3 possible that in 2 pest pepulation 2
the individuals wiil bebave differentiy
due @6 their genetiy makeup,

2. Pesis do possess the ability fo detsxify
-thepesticides.

3. Evolution of pesticide resistance g
squaily distributed in pest population,
Which of the statements given above

xsfare corret 7

fal 1 enly

b} 1 and 2 only

{e1 3 only

(dy LiZend3

P-CTO-M-QB G- A}

L

{ey There i&8 1o

1.  Developed eountties can afford to do
agway with use of pesticides by
afdapiing to orgadic farming, but it
is  imperative for  poor  and
doveloping counitries to use chemical
pasticides,

2. In peor and developing countries,

pases the food probicm.

3. The social and health. ecosts of
pesticide use are generaily ignored
in poor and developing countries.

Which of the statomonis given abovs

isfare correet ?

fal 1 only

(b 1 and 2 only

2 only

i 1, 2and 8

“What does the passage imply 7

{a} -Alternastive options to chemical
pesticidas should be promuted.

b} Too wuch use of chemicals is not
good for the scesystem,

for the

and

sropc
improvement  of  pesticides

making their use sustainabis

fd} Both the statements {ay and (b

above are correct,

qETA IAS
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Passags - 8

Today's developing cconomies use
losy encrgy " per c&pita than

much

States n:_iu:_l at s_:_m_ll_ar _lx‘iﬂ_{]_mbh,_ _shuwmg.

the polential for lower-carbon growth.
Adaptation and mitigation need to be
integrated  inte a-  «limate-smeart
development strategy that increases
resilience, reduces the {hreat of further
global warming, and improves
development outcomes. Adaptation and
mitigation  measures  cag  advance
develepmient, and prosperity can rdise
incomes and foster betier institutions, A
healthier population living in better-built
heuses anil with access fo bank logns and

social securily i85 betler equipped to deal

with 2 changing  elimate and  hs
conseguences, Advancing rebust, resilient
development.  policies  that  promole

adaptation i
changes in the ¢limate, alresdy. begun,
will increase even in the short term,

The spread of econvmic prosperity has |
atways heen intertwined with. sdaptation.
to changing ceelogical conditions. But as

growth has altergd the environment and
as envirenmental change has accelerated,
susiaining growth and adsptability
demands greater capacity to understand
our cnivirenment, gerierate new adaptive
technologies and practices, and diffuse
them widély. As ceonomic historians have
explained, much of humnnkind’s creative

potential bas been directed at adapting {0

the changing world. But adaptation

cannot cope with all [he impacts related

to chimate change, espeeially as larger
changes unfbid in the long term.

needed ioday hecause |

10,

{8 - A}

way f:_iSt en_m;;-,h to match t]m changmg
climate. And some growth strategies,
whether driven by the governmant or the
market, ean also add to vulnerability —
particularly if they overexpleit natural
résources. Under the Soviet development
plan,  irrigated  cotton  cultivation
expanded in water-stressed Central Asin

and led to the near disappearande ¢f the

Aral Sea, threatening the hvelikoods of
fishermen, berders and farmoers. And

clearing mangroves — the natural coastal
buffers against storm surges — o make
way for intensive farming or housing

the physical
settiements,

developrnent, increases
valnarability of coastal

whelher ik Guinea or in Louisiana.

Which of the following conditions of

growth can add lo vulnerability ?

1. When the growth becurs due to
gxcessive  éxploitation of mineral
resources and orests.

2.. When the growth brings about s
change in  humankind’s crealive
potential.

3. When tlie growth is envisaged only for
providing houses and social security to
Lhe pesple,

4. When the. growth occeurs due to
emphasis on farming orly,

Select the correct answer using the codes

given holow

(al 1 only

{b) 2,8 and 4 only

el 1l.and 4 .only

{dy 1,2, 3and4 , ,
() FETHIAS
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'11.  What does lew-carbon gmwl,h imply in{l8.
the present context ?

1. More emphasiy on the use of renewable
sources of enorgy.

2, Leas emphasis on manufacturing
sector and moere emphagsis on
agricuityre sector,

3. Bwitching over from ‘monocilture.
praciices to mixed farming.

4. Less demand for goods and setrvices.

Select the correct amswer using the

codes given below |

fay 1 only 14

(B). 2,5 and 4 only

{cy 1and 4 only

{d) None of the above imples

low-carben growth
12, Which of the following. conditions isfare
necessary  for  sustainable economic

growth 7

i Spr&aﬂmg of econamic prosperity more,

2. Popularising/epreading  of adaptive
technalogies widely 13.

8. Investing on research in. adaptation
and mitigation technologies.

Select the correct answer using the

codes given below ;

(ay 1 omly

by 2 and 3 only

fc) 1 and J only

) .1, 2 and 3

P-DTQ-M-QB {10 ~ A}

Which of the following inferences ecan be

made from the passago 7

1, Rainfed crops should nol be cultivated
in.ire grxtf_,d Afeas.

2. Farming under watér-deficient areas
should not be a part of developrent

strategy.

Seleet the correct answer using the codes
given below :

tay 1 only
by 2 only B
(¢ Roth 1 and 2

{d} Neither 1 nor 2

Consider the following assumptions -

1. Sustainable gconomic growth densands
the use of treative potentigl of man.

2. Intensive agriculture can lead to
ecolegical backlagh,

. 3. Spread of economic prosperity can

adversely affect and

PRvVirenmendt.

the ecolagy

Wﬂh referenm to thu pﬂﬁbagﬁ whmh of

(a} 1. r}rﬂy

By 2 and 3 only
(¢} 1 and 3 only
{d] 1, 2and 3

Whieh one of the following statements

canslitates the central theme of this

‘passage ?

{a) Countries with greater sconomic
prosperily are hetter squipped tu
deal  with  the conseguences  of

climate change.

{b} Adaptation and mitigation should be
integrated with development
strategics,

{e) 'Rapld econotic growth should not
be pursaed by both developed and
develeping cconomies,

{d) Same couniries  resort to.

gverexploifation of natural reseurces
for the sake of rapid development:

A IAS
9638380010
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{a)

. All artists are whimsical.
2 Seme artists are drag addiocts,
3. Frusirated peeplé arvé prone to become
drug addicts.
From the above three statements it THHY
be concluded that
{r) Artists are frugtrated.
b} Some drug addicts are whimsical,
te) ALl frustrated peeple are drug
acddiats. '
(d) Whimsieal
{rustrated,

people  are generally

Examine the following statements :

1. Either A and B are of the same age or
Ads older than B,

2. Hither C
D is plder than .

3. Bigolder than C,

Which one- of the following conclusions.

ean be drawn from the above statements 7
(a} Az older than B

b B and D are of the same age:

D is older than €
A is older than C

(¢l
{d)

Examine the following statements -

1. Only those who have a pair of
birgoulars can become the members of
the birdwatcher's elub,

2. Bomé. members of the hirdwatcher's
¢lub have cameras.

‘8. Those members who have ¢ameras can |

take part in photo-contests,

Which of the following conglusions can he
drawn froin the abave statements ?

All those who have a pair of
hinoculars are membeory
birdwatcher's club, _
All meémbers of the birdwatcher’s
chuby have a pair of binoeculars,

All  those who take part in
photo-contests are members of the
hirdwatcher’s cluh,

No conclusion ean be drawn:

Hi
(e}

(d)

G and D are of the same age or |

of the|

19,

20,

{12 - A

During the last summer vacation, Ankit
went k¢ 8 summer camp where he ook
part in hiking, &w1mmmg and boating.
This sauminer, he is lgoking forward to a
music camp where he hopes to'sing, dance
and learn to play the guitar.

Based oh. the above information, four
conclugions, as given below, have heen
made. Which sne of these lﬂglcaliv follows
[rom the information given above ?

{a)

Ankil’s parents want him te play

the guitar,

ih). Ankil prefers music to outdoor
Activitigs.

(¢) Ankit goes to some type. of camp
EVOLY BUMTTET.

(d}  Ankit likes to sing and dance,

Three persons A, B and C wore shirts of
black, hlue and orange colours (not
necessarily im that order) and pantz of
green, yellow and orange colours {not.
necessarily in-thatorder). No person wors
ghirt and pants of the same colour,
Further, it is given that

1. A did not wear shirt of black cotour.
2. B did ngt: wear shirt of blue colsar..
3. € did not weér shirt of orange colour,
4. A did not wear pants of green colour,
5. ‘B wore pants-of orange colour.

What wore the colours of the pamts and.
shirt worn by 'C, respectively ?

(2} Orange and black
(b) Green and bhue
(e} Yellow and bilne
{d) Yellow and biack

AT IAS
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Ten new Wstﬂﬁeﬂ inJanoary — |
b sitcoms, 8 dranid ud 2 news magazines,
By April, only séven of The new:.shows wore |

still on, five of them being sitcoms=u..

Based on the above information, ~four |
conclusions, as given below, have heen
made. Which one of these logically follows.

from the information given above 7
{a? Only one news magazine show is slifl
.oon _
(&) Only one of the drama shows is still
on.

(¢} At least one discontinued show was o

drama,
(d) Viewers prefer sitcoms over drama.

22, Read the passagc given below and the two |

slatements that follow {(given on the basis
of the passage) .

Four men are waiting at Delhi airport
for 2 Mumbai flight. Twe are doctors and
the other two are businessmen. Two-speak

Gujarati and twe speak Tamil. No: two of
the same profession. speak. the same
language.. Two are Muslims and {wo- are
Christians. No twoe of the same religion

are of the same profession, nor do they |
language.  The

speak  the  same

‘Tamil-speaking docetor is a Christian.

t. The Christian-husinessman  speaks
Gujarati,

2. The Gujarati-spesking doctor ig al

... Mushim,

Which of the above stalements isfare
correct conelusion/eonciusions 7

{a} Yenly

L) Z2enly

(¢} Beth 1 and?

{d} Neither I nor 2

{Consider the following statement ;
“Though quite expensive, television is not

2 luxury itém, as one can learn many
things through television.”

‘Which one of the folowing is a4 valid
irference from the above statement ?

(&) Al expensive things are regarded as
o luxuary, o '
(b) All éssential things for learning are
not luxury,
{c} Television is essential for lparning.
{d) Televisionisnet a lagury llem.
P-DTQ2-M-08

{14 - A}

M, Kumar drives to work at #n average
speed of 48 km. per hour, The time taken
to cover the first 60% of the distance iz _
16 minutes more than the-time laken to
cover the remaining distance. How far is
hiz offica ?

{a) 30 km
{b} 40 km
(€} 45 km
{d} 48 km

Gita is pretiier than Sita bul not as
pretty as Rita, Then,

{2} Sita is not ag pretty as Gita.
(b} Sita is prettior than Rita.
e} Rita is not ag pretfy as Gita.
(d} Gita is prettier than Rita.
Given that,.

1. A is the brother of B,

2. Ci% the father of A,

4. D is the brother of E.

4. K is the daughter of B,

Then, the uncle of D is

fa) A
) B
{c} ¢
(y E

Examine the following statements :

1. Hama scored niore than Rani.

2. Rani scored less than Ratna,

3. Ratna scored more than Rama.

4. Padma seored more than Rama but

Who scored the hi_ghest ¢

(a) Rama

(b} DPadma 7 7
(c) Rani (@) g 1AS
(d} Ratha 9638380010
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Hu*ecf:ans for_the following 11 {eleuen)

items Rm.

BRead the fc}fi—:awmg three passages
and answer the ifems thuat follow. eadh
passage. Your answers (o these Hems
should be based on the passages only,

Pﬁgsa:g.e - .1

Invasions of exoilc spaties into new
geographie  areas  sometimes  eccur
naturally and without human agency.
However, human actions have increased
this trickle te a flood. Hiiman-caused
introductions may pecur either
accidentally as a consequence of human
transport, oF intentionally hut. illegally
to  serve some private purpese or
legitimately 1o procure some hoped-for
public benefit by bringing a pest under
control, producing new agricultural
pmductq or providing novel recrcational
gpportunilies. Many intraduced species
are  assimilated  into  communities|
without much obvious effoct. However,.
seme have been responsible for dramatic
changes {o native species and natural
communities.  For  example,  thelag
accidental introduetion of the brewn tree.
snake Boiga irregularis into Guam, an
island in the Pacific, kas through nest|
predation reduced [0 endemic forest birdg.
specios. to the puint of extinction.

One -pf the major reasons for the
world’s  great  biediversity is  the
ocourrence of centers of endemnism se !
that similar habitals in different parts
of th'e world are occupie;:! hy di{ferent-
emfved tlien, If cvevy specms ndturai]}"
had access to everywhere on the globe,
we niight expoct a mlatwely smalii
numbsr of successful species to become
dominant i each bisme, The extent to
‘which this homegenizatien can happen
nalurally is restricted by the limited

P-DTO-M-QB. 418 - A

powers of dispersal of ot species in the
face of the physical barriers thal exist to
dispersal, By virtue of the transport
opportunitiss offéred by humans, these
barsiets have boen breached by an
ever-increasing number of exotlc species.
The effects of introductions have been to
convert ‘a hugely divérsé range of local
commumity compogitions into semething
much more hoémngendous.

It would be wrong, however, io
eonclude that introducing species to &

region will inevitably ciuse » decline in
species  richness there. For example,

there are numerons spécies of plants
invertebrates ‘and vertebrates fonnd in

continental Europe but absent from the
British Isles {many because they have so
far f'll]{,d 1o o mlﬂmze af‘fer £he last

likﬂl_‘,’ tiy augment British hméwersn}r
The -asignificant. ‘detrimental effect noted
above arises where aggressive species
provide 'a nevel challenge to. endemic
biztas ill-equipped to deal with them.

With reference {o the passage, which of

the following statements is correct ¥

(&} Intreduction. of exolic species into
new  geographical arcas always
leads to refluced biodiversity.

(b) Exolic species introduced by mad
inte new areas have always greatly
altéred the native poosystems,

fe)  Man is the enly reason te convert a
hugely  diverse tange of )oeal
communily compositions into more

‘homogenaeus ones,

{d} Nune of the staiements (a), {b) and
{c}is correet in this context.

A IAS
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Why docs man introduce exotic species
1ato new geographical areas 7

1. To breed exotic species with local

varieties;
2. Toinereaze agriculiural productivity,
3. For hoautification and fan dscaping.
Which 6f the above statements jsfare
correst 7
ta) 1 only
(b) Zand 3 anly
{€f 1 and 3 only
(d) 3, 2and g
How is hemogenization preventod under
natural contditiong ?

{a} Evolution of groups of
specific Lo locdl halyitata,
(h) Presence. of oceans and mountain

{¢; Strong adaptation of groups  of

species to lveal physical and climatic |

conditions,

(d) All the statements (a), (b) and (o)
given ahove are correct in this
context.

How have the human beings influenced
the biodiversity ¥
1. By smuggling livc organismas.

2. By building highways.
3. By making ccosystems sensifive su

that new speeiss are not allowed.

4. By ensuring that new species do’not |

have major itapact on local species.

Which of the statements given above are|

correet, 7

(&) 1 and 2
{b) 2% and 3
(e} 1and 3
{d} 2and4

speciex

(18 ~ A}

.32-. What can be the +dmpact of invasion. of

exotie species eh an ccosysiem ¥
1, Frosion of enderic species,

the eommunity of the veosystem.

* Select the correct answer using the codes

givern below :
fa] 1 ondy
{B) 2 only

ey Both 1 gnd 2

{d) Neither I nor 2

Passage - 2

Most ehampions of democracy have
been rather reticent in suggesting that
democraty would itzolf Promoie
development and enhancement. of social
weifare — they have tended to see them
as good but distinetly separate and largely
indepeéndent goals. The detraciors of
demﬁcra-cy,- on the other hang, secmed to
have been quite willing to express theip
diagnosis of what they see ag serioud
tensiong demioéracy  and
development. The theorists of the

hetween

praciical split — '“Make up-your mind : do

want development 77 — often came, at,
least to start with, from East Asian
countries, and théir voics araw  in
influence as several of these eountries
were bnmensely successful — through the
1870s and 1980s and even later — in
prometing  econc

AT AS
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To denl with these issues we have fo
pey particular attention fo both the
contenl.of what ¢an be called development
and tﬁ.theiinterpmtat'iﬂn of demoyraey {in
particdlar to the respective‘roles of voting
of development canrnot be divorced fram
the lives that people can lead and the veal

freedem that they enjoy. Bevelopment.can. _
scarcely be seen merely in térms of |
enhancement of inanimate objects of |

convenicnee, such s a rise in the GNP {or
in personal incomes), or industrialization
the real ends. Their value must depond-on
what they do to the lives and freedom of
the peuple invelved, which must be central
to the idea of development.

If development is understood in &
broader way, with a focus on hunian lives,
then it becomes immediately clear that
the velation between development and
democracy has to he sean partly in terms

of their comstitutive connection, rather ]

Even though tlie guestion has often been

-asked whether political frecdom s

“Eaundu'ciye to. development”, we muost not |

wiiss. the erucial recopriition that political
liberties and democratic rights are among
the of
development. for
development.  does
established  indirectly  through
contribution to fbe:gmwth n+£ GNP.

“somitituent
Their

components™
relevance

0

net

b |
their :

33.

134.

35,

{ 20 ~ A )

b}

According to the passage, why is 2 seripus
tension perceived between demderacy and
development by the detractors of
democracy. ?

{a) Democracy and develapment are

distinct and separate goals,

Economie: growth can be promoted
suégcgstully  without -pursuing a
demoeratic system of governanee,

(c}

Nen-democratic  regimes  deliver
ecohomic growth faster and far more

{d} All the statements {a), (by and (&)
given above are correct in  this

conlext.

According to the passage, what shouald be

the ultimate assessment/aimiview of

development ?

(a}) Rise in the per capita income and
industrial growlh. rates.

b} Improvement in  the  Human
Development Index and GNP,

fer Rise in the savings and consumption
trends.

{d} Extent of real freedom that citizens

_'ergiﬁy.

between democracy and  development
impiv 7

{a) The relation hetween them has to be

(b} Political and eivil rights only ¢an
iead to ecunomic davelopment.

{cj Political libertios and democratic
rights .are essential elements of
development,

d) None of the statements {a), (k) and

{¢) given shove i3 correct in this

confext. , ,
(@) AETAIAS
9638380010
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P-DTG-M-2B

Passage = 3

The need for Competition Law
‘becomes nmiore evident when foreign direct
iivestiient (FDI) i liberalised. The
dmpact of FDI  is  net  always
pro-eompetitive. Very often FDI takes the
form: of a foreign corporation acquiring a
domestic enterprise or establishing 4 joint |
veﬂture wath one. By makmg suc,h an|
substantlall_v leszen ti‘_‘rmpﬂtltlt_}n and gam
a2 dominant position jn the relevant
market, thus charging higher prices.
Another scenario is where the affifiates of
iwo separaie multinational companies
(MNCs} bhave béen -established in
competition with one another in s
particalar developing econemy, following
the liberalisation of FDI. Subsequently,
the parent companies oveérséas merge.
With the affiliates no longer remaining
independent, competition in  the host
country may be virtually chiminated aid
the prices of the products may he
arfificially inflated. Most of these aflverse-
consequences of mergers and scquisttions
by MNGCs ean be. 'avc;ided ii“ an sffectiwe
ecofiomy  that 3has 1mp1_e_me_nLgd an
effective competition law is in a better
position to attract FDI than one that has |
nol: This is gt jost because mest MNCs
are ecxpected to be accustomed to the
operation of such a law i their home |
countries and know how to deal with such
concerns buat also that MNCs expect
competition authﬁrltaes L ensure a. level.
playing fleld between domestic and
Foreign firms.

346,

37,

{22 - A}

fc)

With reference to tlie passage, consider
the following statements ;

1, 1t i desirable. that the impact of
Foreign Difect Investment should be
pro-competitive,

2. The -entry of foreign investers
invariably leads to the inflated prices
n domestic markets.

Whieh of the statorments’ given abave

isfare correct ¥

ia} 1 only

(b) 2 only

(¢} Both I and 2

{d} Weither } rior 2.

According to the passage, how dees a

foreign investor dominate the relevant

domestic market ?

1. Multinational companies
-accustamed to domestic laws.

eatabhsh Jmnt

et

2. I‘ i}rﬂign wrrpamea

3. Afifiliates in a parhfmiar markeb@eetar
iose their independence as their parent
COMPRATIES OVErseas merge.

4. Foreigh cumpanies Tower the cost of
their pruducts as cﬁmpar&d LG i‘mt of

Whl,;c_}:u of the slatements given above are
eorrect 7

{a) 1 and 2 only
{b) 2 and 3 only

fdy 1,2, 3 and 4

AT |AS
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88.  Whal is the inference from this passage 7

39.

41,

P-DTQ-M-0B

{ay Foreign investors and multinational
the |

tompanies  always  dominste

dornestic market, _

It i5 not in the best interests of the

domestic economy to allow mergers of

companies. ‘ '

(e} With competition faw, it is GESY to
ensure g level playing field between
domestic and forgign firms.

{(d) For countries with OpEN eConGmy,
Foreign Direct Investment is cssential
for growth.

{b)

Examineg the following statements :

1. Fwatch TVonly il 1 am bored,

2. I am never hored when I have my
brother's company.

3. Whenever I go to the theatre [ lake iy
brother along, _ _

Which one of the following eonclusions is

valid in the context of the above

statements 7

{ay IfIam bored, 1 waich TV,

{b}
COmMpany.

e} If I am not with my brother, then I
watch {'V.

(d) IfTamnot bored, I d6not watch TV,
Ouly six roads A, B, C, P, @ and B

connect’ a military camp to the rest of the

counitry. Oniy one out of A, P and R is
open at any one time, IF B is closed, s6 is
Q. Only one of A and B. is open during
storms, P iz closed during Hoods, In this

context, which ene of the folluwing
statements is correct 7

(a) Under normal conditiong only three
roads ars open.

(b) Duiring storms at least one road i«
Open,

{¢) During floods only three roads ars |

open
(d) During calamities all rosds
closed,

are

41,

43,
If T am bored, I scek my brothers |

(24 <A )

Examine the following statements :

1. None but students dre members of the
club.

2. Bome members of the club are married
PErsons.

8. All married persons sre invited for
danco,

.....

Which on¢ of the follosving conelusions
can be drawn frém the above statements?

(2} All students are invited for dance,
(b) Al married studerits of the club are

invited for dance.

e} All members of the club are married

PErSONS,

{dy None of the above conclusions can

be drawn:

Four political parties W, X, Y and Z
decided 1o set up a joint candidate for the
coming parliamentary elections. The
formala  agreed by them was  the
acceptance. of a candidate by most of the
pariles: Four aspiring candidates AR C

and D approached the parties for their

tickets.

A wasg geceptable to W but not to 7,

B was acceptable to Y but niot to X,

C was acceptable o Wand Y.

D was acceptable to W and X

When candidate B was preferred by W

and 7, candidaie O was prefarred by X

and Z, and candidate A was acceptable
to X but not to Y] who got the ticket ¥

{fay A

by B

fey C v .
@& D () FRTHIAS

9638380010
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43..

44.

B.0TO-M-(8

Consider the following statcments -

i

ﬁgil_ X-brand ears parked here are

2. Some of them have radial tyres.

4.

‘The elements of the problem figures fiven
below are ehanging with.a certain rule as

we observe them from left to right :

A ‘

¥

_\:

&

< _—

3. All X-brand ears manufactured after

1986 have radial Lyres,
4, All carg arp not X-brand.

Which one of the following conelusiens:
can he drawn from the above statempnis 2

(a) Only white cars are parked here,

{(b) Bame white X-brand carg  with
raiial tyros are parked here.

Cars other than X.brand cannot.
have radial tyres,

Most of the XN-brand ears sre
manufactured hefore 1986,

{c)

(d}

The Third Werld War, if it ever starts,
will end. wory quickly with the pussible
end of civilization. It is only the wisuse of

nuclear power which will trigger it.
Based on the above statement, which gne |

of the following inferences is correct 7
(a)
Third World War.

There will be no civilization left
after the Third World War.

(b)

Nuclear power will be used in the |

486,

According to this rule, which of the
following would be the nekt figure if the
changes were continued with the same
rule ¥

v
{a)
. ¥
N
@ | |
E
Ady
Consider the following information

regatrding the perlormance of & olass of

1000 students in four différent tests -

Tests I ¢ 1 | |31 iv |
Average marks | 60 60 | 70 | _ 8{1_ |
Rangeofmarks | 30 | 45 |.20 | ©
: to to to | to
90 { 75 | 100 | 100

If a student scores. 74 marks in o I of

the four tests, {n which one of the

following tests is her performance the

{c}

{d)

The growth of nuclear power will®
destroy civilization in the long run,

The Third World War will nat take
place.

{268 = A}

best comparatively ?

(a;
{bi
{e}
(d)

Test I
Test 11
Test 111
Tesl IV

L4

AT IAS

9638380010
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47,

48,

P-DTO-M-OB

3ix squares are coloured, frent and back,
red {R} blue {]3} veﬂow Y, grm.n {G),
together as shown in the ﬁgure given
betow. If they are folded to farm & cube,

‘what weuld be the face opposite the white

face ?

RiB

&2
-
=

W

(a)
{b3}
{oy

c ® 0

{d

in the abovd figure, circie P
hardworking people; eircle Q
intelligent people, circle R
truthiul people, and ecircle 8
honest people, Which region

reprm«;ents.
-repr‘{,s{_mts
represents
represcents

the peopic who are intelligent, honest and

truthful but net hardwerking 2
{: ﬂ} £
by 7

(e B

@ 11 .

49,

b0.

{28 - A)

Three views of 4 cube fallnwmg a
particular motion are given below =

K S 8,1 B

A ' M P

What is the letter spposite to A ?
(@) H
{hr P
ey B

Wy M

 ®@
S &

39G

Which one of - the figures shown below
geeupies the biank spzce {7} .n the matrix.
given abeve ?

o

AW |AS
9638380010
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{b]

(e}

o ow D oW

3utfen ey , 39 P el il o Rt e
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thy 17

{c) 8

) 11

49, o< fRgw amglie wureRor A s vd (FgE)

50,

K a1 v B

A B er e H

A% wup da g ¥ ?

by P

v

fe)

() M
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P-OTQ-M-CGB

Directians for the following € (six) items :

Rend the following two passages and
answer the items that folloe each passage.
Your answers to these ilems should be
based on the passages only,

Pussage - 1
The

eronomies,

posr  especidlly in  ‘market

need the strength  that
colléctivities offcr  for  crealing mere
economie, social and political space for
themisclves, their
socio-conniomie well-being and voipe, apd

tor gnhaneing

ds @ proteclion against free market

individoalism. It has been argued that a-

group approsch to. farming, especially in

produciion collectivities, 0ffers substantial

seope  for  poverty allevialion and

empowering the peer ag well as enhancing
potenfial, however, the groups would need
to be voluntary in nature, small in wize,
participalive in .decisioe makihg and
equitable in work sharing and benefit

distribution. There are many notable
examples of such cpllectivities to be found
in the
transgilion cconomies. Al of them bear

in varied contexts, sweh ms

cooperation under given eondilions. And |

althgugh the gender impact of the family
coaperalives in. the transition economies

are uncertain, the Indian examples of |

women-only  groups  farming  offer
congiderable  potential  for bemefiting
wormen.

{ 30

51

52

Arrpact”

Agricultural collestivities such as group
based farming can provide the rural poor
1. empowerment,

2.
3.
4,

incressed agricultural productivity,
safeguard against exploitative markets.

surplus  prodietion of agricultural

comraadities.
Belect the coreect answer using the codes
mven below :

(a) 1, 2, Band 4

(o) 1, 2-and 3 only
fc) 2 and 4 only

@ 1,2 and4 only °

What does the auther imply by “gender

ta) Women are doubtful participants in
coaperatives,

(b} Family cosperatives may not include
WOIED .,

c) Women bensfiting from group
farming.

{d) Women's role  in transition

economies is highly restrietive.

1. It iz imperative for {transition
economies  to have  agriceltural
eollectivitios, ,

2. Agricultural productivity can  be

farming,

With reference to the above passage,
which of these sssumptions isfare ivlaliiti- 7

{a) 1 only

{h) 2 only

{¢} Both 1 and 2.
{d) Neither 1 nor 2

AW |AS

9638380010
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2,
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Passage - 2

Woestern:  liberal
of
invariably leads to consalidation of iberal
{n the

democratization is translated Into greater

In =&

context,  deepering democraty

values’, Indian  confext,
involvement of people not as “individuals’

which is & ataple te liberal discourse, but

ag communities or groups. Individuals aro |
getting involved in the public spheres not |
as ‘atomized individuals but ag members |

of primordiai communities drawn on

religious or caste identity.

governing force. It iz not therefore
surprising that the so-called peripheral
Broups fo their
identitics with refereénce to the sodial

continue maintain
groups (caste; religion or sect) to which
they belong while getting involved in the
political processes despite the fact that
their polifical goals rémain mere or less
voice  of  the
demoeracy in India has led to ‘a loosening

politieal rarginalized,

peripheraly to be confident of their ability

to improve the socio-ceonemic conditions:

in which they are placed. ‘This is a
significant -pnlitica‘i'prutess that had led to
& silent révolution ‘through a meaningful
transfer of power f;am_ thé upper caste
ehtes to various subaltern groups within
the democratic framework of public

govérnance.

o4,

Community-identity seems to be the 55.

56.

{32 ~ A

{d}

According ‘to ‘the passage, what does
“deepeming of democracy” mean in the
Western context ?

(a} Consodlidation of group and class

identities.

{I} Democratization  transiated  as
greater involvement of people:

(¢) Democratization as greater

involvement of ‘atomized’ individuals
in the public sphsre.

None of the statements {4), (b) and
{¢} given ubove is correet in this

(d)

Greater demuerstization in India has net
negessarily led to

{a) the dilution of caste and communal
identilies in the publie sphere.
irrelevance of community’ i_::ien_ti'ty as
a governing force in Indian polities.

{(b)

(c) marginalization of elite groups in
sacicty. d
{d} relative unimportance of hereditary

identities over ¢lass identities,

What is the “silent revolution” thal has

pceurred in  the Indian democratic
nrocesy 7
(a) Irrelevante of caste and class

hierarchies in political processes.

(b

voting behaviowr and patterns.

Bocial change through transfer of
power from wupper caste elites to
subaliern groups.

{e}

All the statements (a), (b} and (¢)
given. above. are corre¢t in  this

context, E ,
() AETHIAS
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Directions for ithe following 5 (five) itemis : |60,
Examine fhe information given in the
following paragraph end drsioer the items
that fallow

Guest lectures on five subjects viz.,
Evonomics, History, Statisties; English|
and Mathematics have {o be arranged in a g1,
sweek from Monday to Friday., Only one |
lecture can be arranged on each day. |
Heonomics  cannot  be  schediled  on
Tuesday. {Guest faculty for History is
available only on Tuesday., Mathemafics |
lecture hias te be scheduled imimediately lga.
after the day of Economics lecture.
English leetare has to be scheduled
1mmﬂd1rﬂ*efy before the day of Economics
legture;

§7. Which leeture is scheduled on Monday
fa) History
(b} Economics
fc} Mathematics
{d} Statistics ekt

58. Which lecture iz scheduled between
Statistics and English ?

(a} Eronomics
{b) History

{¢) Mathematics
(d} No lectisro

59. Which lecture is the Jast one in the
week 7
(n) History
(b} English
(e} Mathematics
(dy Economics

P-BTQ-M-0B: {34 - A

Which lecture is scheduled on
Wednesday 7

{g) Statistics

(b} eonomics

{c) English

{d} History

{a} Economics
{b) History
{e} Statisties
{d) English

Twe glasses of equsl velume are
respectively half and threo-fourths filed
with milk. They are then filled to the
brim by adding water, Their contents are
then poured into &nother vessel. What
will be the ratio of milk to water in this
vessel ?

{a} 1:38
(ly 23
(c} &:2
(&} 5:3

Consider the. following statements :

1. All machines consumc cnergy.

2. Electricity provides energy.

3. Electrically operatcd fachines ard
rheap to maintain,

4. FElectrieally gperated machines do not
canse pﬁllu,ti{}n

he drawn from the above siatements ',?

ta) All machines are run by electric
£nergy,

(b} There is Do form -of cnergy other
than electricity.

{¢) Most machines are operated on
eleciric energy.

fd} Electrically operaled machines are

preferable to use,

) A IAS
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{&)

Examine the {illowing statements

1. Ngne butthe rich ean afford air-travel.

2, Bome ol*those who travel by air become

siek.

3. Bome of those who bécome sick require
{reatment,

Which one of thke ﬁ}]?{ﬁﬂﬂg conclusions

can he drawn from the abave stalemernis ?

All the rich persons travel by air,

(&)
{hy Thase whe frdvel
sick.

(e} All the rich persons beesre sick.

(dy All those who travel by air are rich.

vy five flatz, vne above Lhe other, live five
professionals, The professor has fo po up
to meel his IAS officer friend. The doctor
is equally friendly {0 all, and has to go up
as frequently as go down. Tha enginecr
has to go up to mest his MLA friend

above whose fat lives the professor’s

friend.
From the pround floor to the top floor, in
what order do the five professionals Hve ?

Engineer, Professor, Doctor,

dfficer, MLA

Professor, Engineer, Duoetor,

officer, MLA

(b

Dector,

IAS  sfficer,
Professor, MILA

Engincer,

Professor, Engineer,
JAS sfficer

{ 38

by atr become

AR

IAS

Diostor, MLA,

6 6.‘?

Direetions for

the following 8 (eight)

66 fo 73} wre Ermed.un i‘h Yee pOassages in
English to test the comprehension of
English language and therefore these
itewes do not have Hindi version. Read
each possage and answer the ifems thot
fotlow.

Passage -1
For fourteen and a half months I lived
in my little cell or'room in the Hehradun
jail, and T ‘r:;e-gﬁn to feel asif 1 was qlmm%

;1)f .1t, 1 knew every mark and dent on-the

whitewashed walls and on the uneven

floor and the c‘e‘iling with its moth-eaten

:_fﬁr aeveral colonies of wasp and hnmets
lived there, and many lizards found &
home behm{i the rafters, emerging in the

evemng:s in gearch of prey.

Which of the following explains best the
sentence in the passage “T was almost a
part of it” ?

{a; I'wasd siof alone in the cell.
by T was fumifar with | avery hit of the
N

- A}

I greeted liitle tufls of grass like old
friends,
I felt guite at home in the cell.

AT |AS
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Fretenian oo B WA HIEE -

AT TEAT

2. ¥ o o welf A & 3o AmRoug
i :
Wﬁﬁ%ﬂ
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MLA
(b) FBwR, FEitvgY, ffaes, IAS aftmmd,
MIA
(&) 1AS Feny, foiFeR, dfas, dibeR,
MLA

(dy sheeR, YRR, dfsew; MLA, IAS
aferT

Flafias 8 (o) sl & e B

66,

(37 - A

SfiReT 8 (3nE7 geie (Feir 66 @
73) FuSt & T el o e & ol
S T B @ A ufeor & B F oo
& el of R s vl R om ke
& | el wiarer wlige war el vl &
IR a4

Pussage -1

For fourtesn and a haif menths T Lved.
in my little.cell or roem in the Dehradin.
jeil, and I began o leel a5 if I was almost
& parl of 1t 1 was familiar with every bit.
of it, T knew ¢very mark and dent -ci'ﬁ the
whitewashed walls ard on the gievern
flaor and the ceiling with its moth-eaten
rafters. In the little yard outside I grested
little ‘tuf’ts of graa’at and odd hits of stone
fﬁr swﬂml -mlemes nf WASD dnd_ hﬂmets
lived there, and many lzards found &
hame behind thie rafters, emerging in the
evenings it search of prey.

‘sentence In the passage <I waos aimﬁst f
F}ELI'L 'Cif it_’!‘ 4

(a; 1 wag not afome in the cell.

by I was familisr with EVETY bit of the
¢edl.

(cy I groeted little tufts of grassilike old
friends, u

(@7 I'felt quite at home in the cell,

qEA IAS
9638380010



67.

63,

P-DTQ-M-OB

(a}

b}

. (_ﬂj}

{dy

The passage attempts to deseribe:

ihe
gountry’s jails.

general  conditions  of  the

minte details of his surroundings.

overcome the loneliness.

The author of the passage zeemns to |

sugrest that

i iz possible to adiust eneself to
nincongenial surroundings.

Y,
the. conditions. in Indian prisons are

not bad.

it iz not difficult to spend one’s fime
in. a prison.

(B)
(e}

there. is a need to improve the

(d)
" conditions in dur jails.

We started pitching .the highest
that

Everything took five limes as long as it

CRInp Has ever been made.
would huve taken in @ place where there
wag enough air to bréathe! but at last we
got the tent vup, and when we crawled in,
it was not too. bad. There was only a light
wind, and inside it was ot foo cold for us
to take off our gloves, At might most
chimbers take off their boots; but | prefer

te keep them on. Hillary, on the other

hand, tock his off and Iald them next to

his sleeping 'bag.

{ 38

the prisoper’s capacily to notive the
the prisorners ¢tonscious efforts to

the prisoner’s ability te live happily

63,

0.

71.

— A

{a}
{b}

What does the expression “pitching the
highest camp” imply ?

(a) They reached the summit of the
highest mountain in the world.

(hy These who climbed that far earlier
did not pitch any camp.

(¢} Bo far nobody has ever climbed that
Thigh.

{d) They wers too many climbers and

needed to pileh a big camp:

They took ‘a long time to finish the work
because

they were very tired.
there was riot enongh sir to breathe,
it was very coid.

{c).

td)y it was very dark.

When they crawled info the tent

they togk off thejr gloves because il

{a)

{bj fhey could.not take off their gloves
hecanse it was very cold:

(¢} they took off their gloves though it
wag very cold,
(qy they did not take off their gloves

theugh it was not cold.

A IAS

9638380010
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PDTO-M-OB

The passage attempis to deseribe 69,
(a) the wgeneral conditions of the
country'’s jails.
(b} the prisoner’s chapacity 6 hotice the
minute details of his surreundings.
{¢}y the prisoncr’s conscious eofforts to
overcome the lencliness,
{d} the prisener’s ability to live happily
with other creatures,
The author of the passage secems fo
suggest that ;
{a} i 13 peossible to adjust oneself to]
uncongenial surroundings. '
{b} the conditions in Indian prisons are |70,
not bad.
fe} it is nat difficult to spend one’s time |
in a prison.
{d} there iz & need to improve the
conditions in our jails,
Passage - 2
We started pitching the highest
camp that has  ever been  made.
.Ever:,rthing tock five times as long as it .
would have taken in & place where there |
was enough air to breathe; but at last we}
got the tent up, and when we crawled in;
it. was not too bad, There was only a light |
wind, and inside i€ was not too cold forus |
to take off our gloves. At sight most|
elimhers take off their bosis; but I prefer
to keep thém oh. Hilliry, dn the other
hand, took his off and laid them next to
his sleeping bag.
[39 - A}

What does the cxpression “pitching the

highest camp” imply ?

(2} They reached the summit of the
highest meuntain in the world,

thi- Those who climbed that far carlier
did not pitch any camp.

{¢) Bo far nebody has ever climbed. that
high.

td) They were tos many climbers and,
needed to piteh a hig camp.

They took a lung time to finish the work

berause

{a} they were very tirad.

(b} there was not enough air to broathe.

{c) it was very cold.

(df it was very dark,

When they :::ra.wle& into the tent

{a) they took off their gloves becanse it
was. not very cold.

(b} they could not take off their gloves
Becausé it was very cold.

(c) they took off their gloves though it
was very cold.

{dy they did not take off their gloves
though it was not cold..

(@) AT IAS
9638380010
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72, The man went inte another foom hecause
(a) he did not know where exactly the
wtalrway was.
(b} the passage was fall of smoke.
(¢} he was extremely nervous,
fd). he stumbled on a bundie.
73. The man was ¢alled 2 hero hecange he
(a} expressed hiy willingness to risk his
life to save cthers.
(By managed lo.gscape lrom the fite.
{¢y showed great-courage in fighting the |
fire.
{dy saved a kfe
P-DFQ-M-OB

9638380010

Passage - 3
A local man, stﬁying. oty the ifap

wooden house, was

floor of an old
awakened at midnight by a fire. Losing
his way n a smekediled passage, be

mizsed the stairway and. went intol.
another room. He picked 1up a bundle o]
protect his face from the Are and|
immediately fell. through the Novor Below
where heé managed to escdpe through a|
proved. to be
" the baby of the Mayer's wife. The “here™ |
74,

tlear dudrway. The “bundle”

was conpratulated by all.

Directions for

the following 7 (seven)

tlems :

5.

{40 ~ A

(fiven below are seven ilems. -Fach Hem
describes a situalion and is fa&jﬂawed by
four possible responses. Indicate the
response you o find  most  eppropriate.
Choose only one respanse for sach iteni
The responses will e evaloated based on
the level of appropriatenvss for ih{e';giwn
situation.

Pleasc attempt all the items. There is.
ne penally for wrong answers for
these seven itemas.

You have differences of opinion regarding.
the final Treport prepared by your
subordinate that is to be submitted
urgently. The subordinate iz justifying
the infermation -given in the report. Yon
woirdd. ..

{a) Convinee the subordinate that he is -
WITNgE.
{b) Tell him {o reconsider the results.
{c}

)

Revise the repert on your ow.
Tell him not to justify the mistake.

Yau are competing with your batch-mate
for & prestigious award to be decided
bagsed on an oral presentationn. Ten
moinutes aie.  allowed  for  each
cormmitiee to finish oo fime. Yeour frietud,
however, iz .allowed more than the
stipulated time period. You would..

) Todge =& complaint o  the
chairperson against the
digcrimination.

(b) Not. listen to. any justification from

the commitiee.
(e} Ask for withdrawal. of your name.

(d) Protest d6d leave the place.
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Passage ~3

A local man, staying on the fop.

floor of an old wooden house,

awakened ai midnight by 4 fire. Losing:

his- way in a smokp-filled passage, he
missed the stairway and went into
another -_13'001'!1 He pi'cked u'p' a bundln
protect his face

immedintely fell thmugh the ﬂm:nr i}elﬂw
where he managed to escape- through a
clear deorway: The “bundie” proved to be
the baby of the Mayor’s wife, The “hore”
was congratulated by all.

The man went into another reem beeause

he did not know where exactly the
SLAITWOY was.

()

fhy -iJH'(-: pazsage ‘was full of smolke.
(¢} he was -extremely nervous.

fdy

The man #waz called a.here because he

{a} expressed his willingness ta risk his |

life to save others.

)

{c}
ﬁrel

tdy saved a life,

was

74,

75
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You are handling a time-bound projeet.

Duaring the pruject review ineeting, you
find that the preject ia likely to get

delayed due to lack of cooperation of the
tedm members, You would...

{gy Warn thc team meombers for their
non-cooperalion.

(b} Look inle reasons for
non-coaperation.

(¢ Ask for the replacement of ieam
members.

Wy Ask for extension of time citing

9.

TEHEBNNS.

You wre the chairperson of a state sports

commiltee. You have received a complaint

and later it was found that an athlete in
the junior age category who has wun a
medal has crossed the age er;terla by
A days, You would., ..

(ay Ask the scresning committee for a
clarification.

(03 Ask the athlete to return fhe medal. |

(c)  Ask the athlete to gét an affidavit|
from the court declaring his/her age. |

(d¥ Ask the meémbers of the sporis|

?Si

'i;he PIG]EC’E: YBHT 1mmecl1ate huss doos m}t' :
grant. yeur leave citing the wrgency of the |

comamniiles {for their views,

project. You would. .

x

1£:3)

(b}

)

P-DT

the sanclion.
Pretend to be sick and take fla_me,

Approach-  higher authority
reconsider the leave application.

(e} io

Tell the bogs that it is not justilied.

Q-M-0OB (42

Proceed on leave without, wadting for |

7.

80.

{a)

)

ted

directly asking wou

d{ rags,

b

(e}

iy

You are tnvolved in setting dp a water
.s*upp]ﬁy project in a remwle drea. Full

recovery of esst iz impossible in any

case. The income levels in the ares are
low and 25% of the population iz below

poverty line (BPPL), When a decigion has

to be taken on prieimg vou would...

Recommend that the supply of water
e feee of eharge in all respectd.

Recommend that the users pay a.one
time fixed sum for the instatiation of
taps and the usage of water be frec.

Recommend ‘that & fixed monthly
charge be lsvied only en the non-BPL

familios and. for BPL (umilies water
should be free,

Recommend that the users pay a
chargo ’na‘»cd’ an, the consumption af

1101~ BPL_ aﬂd BI’L_ famﬂ;e:;.._

As 4 eifizen yom have some work with
a government departmient. The official
calls you.agdin and again; and without

4 serids out foelers
for a brihe You want fo. get your werk

Give a hribe.

(&)

Bebave as il you have not hnderstaod
the feelers .and persist with your
application.

Go to thie Higher officer for help
verbally eomplaining abont feelevs.

Send in s formal complaint.

- &Y
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